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# Soluzione 

10. 

42 - 23 - ? - 4 - 15 

A   16 

B   30 

C   19 

D   24 

E   21 

 

Ogni numero è dato dalla differenza dei due 
che lo precedono. 

42-23=19 

23-19=4 

19-4=15 

 

18. 

2 6 13 ? 36 

A   21 

B   19 

C   23 

D   25 

 

+4+7+10+13 

19.  

4 - 6 - ? - 18 - 12 - 22 

A   12 

B   19 

C   15 

D   102 

E   10 

 

A coppie: B=A·2-2 

4·2=8-2=6 

10·2=20-2=18 

12·2=24-2=22 

20. 

? 29 16 17 11 22 

A   4 

B   8 

C   26 

D   12 

 

Logica alternata: +12-5; -12+5 

4+12=16-5=11 

29-12=17+5=22 

37. 

7 13 ? 22 25 

A   21 

B   15 

C   18 

D   20 

E   17 

+6+5+4+3 

https://www.facebook.com/LogicaFacileit-106005118002726
http://www.logicafacile.it


 
 

LogicaFacile.it 

 

# Soluzione 

55. 

? 66 3 11 2 6 

A   8 

B   215 

C   75 

D   6 

 

A coppie: A2+2=B 

82=64+2=66 

32=9+2=11 

22=4+2=6 
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